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JIE 7. K 4 oUT IN G |HC NET 7= 7 NEVAR= dA,
1 HZES 37 37 | T4 2.8 T1.2
2 A a Rk 40 41 81 8.8 72.2
3 REAER 45 45 90| 17.2 72.8
4 FHSER 49 45 94 20.8 73.2
5 HFIE 43 43 86 12.4 73.6
6 M= THRE 49 48 97 23.2 73.8
7 fh R 42 54 96 22.0 74.0
8 VHIEFIA 46 39 85 10.0 75.0
9 MHBLE 50 57 107 31.6 75.4
10 idEHFER 48 52 100 24.4 75.6
11 kB R % 41 40 81 5.2 75.8
IPNEST & A7 51 98 22.0 76.0
13 HEAHEGL 41 49 | 90 13.6 76.4
14 IRABHERE 47 46 93 16.0 77.0
15 HP kY F 48 51 99 22.0 77.0
16 KRAEHE = 45 47 92| 14.8 77.2
17 B4k 53 51 104 26.8 77.2
18 XKHFEH 42 43 85 7.6 77.4
19 {hHIESE 43 51 94 16.0 78.0
20 HRIE# 48 43 91 12.4 78.6
21 MEEL 44 45 89 10.0 79.0
22 AL H] 40 49 89 8.8 80.2
23 WEHIA 62 51 113 32.8 80.2
24 HH—E 51 55 106 25.6 80.4
25 FEATAS— 55 55 110/ 29.2 80.8
26 W 0 = 66 62 | 128 47.2 80.8
27 SIAEWRAR 59 62 | 121 40.0 81.0
28 L A7 56 103 20.8 82.2
29 FGME 59 56 115 25.6 89.4




